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� ��
�� � �����

��
�� �

����� �� �	
� �
 � ���� ��
 ����� � �
�
�� ��
���� ���� �� ������� ����� � !���"� �� #$ %&' (� #���� ��' )' *�

�+� #� #$ %&' �,�$ ��
� �-�� ���'�.� '� ���� #��/� 0�� #$ �'��
�'�1 2���-�
-� �
�
�� ���� 3� ��� #���, 4��5�
2�
$ #"6�7� '���' )' '� #�	�8 ��' %9��� �� %9	� �
-� ���� #��/� �� #$ �'��
�'�1 ��' 2�
$ #":'�� #���, 4��5� #� ;����
(�<�' =	� (���
�'�1 )' #�&� ��' �'�� >6�7� (��$ ?�5�� �� ��'����� ���� @�5A' �$B (��� '� ���� )' ���	9� #�	�8 ��'��

2�-����.C

���� ����� �� ����� ������ �	 ������ �

��D� #� e ∈ G �E
F 3� � ∗ : G × G −→ G ������ 4�F 3� �'���� G #F��G� 3� )' %&' @��5F ���� 3� ������
H�
-�� #�-'� '� ��) ��
 %	I�1 #$

H ���.C %$�- H !6'

∀a, b, c ∈ G (a ∗ b) ∗ c = a ∗ (b ∗ c) J1K

�L
1 ��F H M

∀a ∈ G a ∗ e = e ∗ a = a J2K

(��'� ��F H N

∀a ∈ G ∃a−1 | a−1 ∗ a = a ∗ a−1 = e J3K

2�	9��� �� ab @��I #� '� b � a 4L� �E
F�� M�8 � �	
$ �� �/� *�I ∗ ���� ��-�� )' �"� #� ��')'
2��- �� ���'�1 �O�� ���� P�-�� #�-'� ��:� ������ ab = ba #,�8' %	I�1 #$ ����
 H !��"�

H%&' (�&� ��) Q'�1 @�5A'
2%&��<� ���� �L
1 ��F H!6'

2%&��<� ���� ��F 3� (��'� H M
2(g−1)−1 = g P g ∈ G �
 �')' #� H N

2(ab)−1 = b−1a−1 Pa, b ∈ G �
 �')' #� H �

R



���� �� � 
�! �

�� ����� Zn �� '� (� #$ �
� �� ���� 3� 4	<S� n #���	C #� T�: 4�F�� n )'��<��$ U	DI �'�F' #F��G� H3� ?�L�
2�	
�

2�
�9
 �O�� ��
 ���� V�, ��
 ���� ����

2�
� �� 4	<S� ���� 3� p #���	C�� M�8 �� Z∗
p := {1, 2, 3, · · ·p − 1} #F��G� P�-�� ?�' ��F 3� p ����
 H�� ?�L�

?�' (� #� %59� #$ %&' a )'�� 3��$ %5L� U	DI �'�F' ���� #F��G� Za
∗ �-�� U	DI ��F 3� a ����
 H#& ?�L�

M�8 ?��: #$ ��� ��� '� Z∗
12 = {1, 5, 7, 11} ���� ('�� �� ?�L� ('�
F #� 2�
� �� ���� 3� 4	<S� #F��G� ��' 2�
-��

H%&'��) 4<- #� (�

1 5 7 11
1 1 5 7 11
5 5 1 11 7
7 7 11 1 5
11 11 7 5 1

J4K

�'�"� @��I ��'�� 2�	�'�1 �� JFiniteGroupK ���D� ���� W� '� (� �-�� ���D� ���� W� ���F'�'�"� ����

2�	�'�1 �� ���� #5��� '� (�� ��'� (�S� |G| �� '� G ���� ���F'

�/��� '� �6���C ��
 X����� #� ��&�� �"��� ��"� �� ��
 X����� ��		
� �	�
 �������� �	�
 �� ��
�� �
��
H���	Y�

σ1 =
(

0 1
1 0

)
, σ2 =

(
0 −i
i 0

)
, σ3 =

(
1 0
0 −1

)
. J5K

H�

$ �� V�I ��) #7�'� �� �
 X����� ��'

σkσl = iεklmσm, J6K

���� 3� ��) #F��G� #$ �'� (�S� ('�� �� #7�'� �� ' #� #:�� �� 2ε123 = 1 � %&' (�������C Z[ ��$��9��� εklm (��� #$
2�
� �� 4	<S� 8 #5��� �� �O���	\

G0 = {±I,±σ1,±σ2,±iσ3}. J7K

]



2%&' 16 #5����� �O���	\ ���� W� ��) ���� �	
� �


G1 = {±I,±σ1,±σ2,±σ3,±iI,±iσ1,±iσ2,±iσ3} J8K

2���	� �� �/��� P�	
$ �� ^+S� 1, 2, · · ·n ��
 >9����� '����� #$ �- n )' #F��G� 3� ����
� �	�
 ���� �
��
%SY��: ��' ���� #F��G� 2%&' _��1 ��� #F��G� ��' )' �-�C � 3� #� 3� %-�Y� 3� #F��G� ��' )' %SY��: 3�

H�'� (�S� ��) 4<- #� '� α ∈ Sn %SY��: 3� ('�� �� 2�	
� �� ����� Sn �� '��


α =
(

1 2 3 · · · n
α(1) α(2) α(3) · · · α(n)

)
. J9K

H��- �� !��"���) @��I #� �� (� M�8 P�
-�� %SY��:�� α, β ∈ Sn ��'

(αβ)(k) := α(β(k)), J10K

3���1 �-�C � 3� #� 3� %-�Y� �� >	$�� #$ �G��)' 2%&' β � α %-�Y� �� >	$�� (��
 αβ #$ %&�
"� ��' #� T '� �� #$
��F �	
� �
 2%&' #�9� M�8 ��' %D� Sn #G	���� 2 %&' %SY��: 3� =	� αβ XC P%&�-�C � 3� #� 3� %-�Y�

H%&' ����
 %-�Y� (��
 #$ ��'� ��:� #F��G� ��'�� �`'�

e =
(

1 2 3 · · · n
1 2 3 · · · n

)
. J11K

=	� Pα ∈ Sn ��F�
 (��'� P %&�-�C � 3� #� 3� %-�Y� 3� ��1 �-�C � 3� #� 3� %-�Y� 3� (��'� #$ ���G��)'
)' �"� 2%&' �O�� � ��'� ��F �� #$ %&' S2 %SY��: ���� ���� ���& 2�	
� �� (�S� α−1 �� '� (� #$ %&' Sn �� ���F

2%&' �O�� �	\ � ��'� ��F a #$ %&' S3 %SY��: ���� (�

S3 = {e, α, β, γ, δ, η}. J12K

H)' �
���5F ��F' ��'

e =
(

1 2 3
1 2 3

)
, α =

(
1 2 3
2 1 3

)
, β =

(
1 2 3
1 3 2

)
,

γ =
(

1 2 3
3 2 1

)
, δ =

(
1 2 3
3 1 2

)
, η =

(
1 2 3
2 3 1

)
. J13K

2�
� 4	<S�'� ���� ��' M�8 ?��: ��`'�� ��'�� �� ��
�'�1
2�	
$ ���� '� ���� 3� ��
 �6�� ����� #$ %&' ���� �	
$ #"6�7� '� ��F n %SY��: ���� #<��)' 45 

b



���� ��� �	�
� � 
��� �� � �� ���� ���

�
"� 2�
�� �� %&�� β � α �E
F �� M�8 )' S3 ���� �I�
F #�
 #$ ��$ c	�D� ('�� �� ��`'��

S3 = {e, α, β, αβα, βα, αβ}. J14K

��' )' �'�+6� ��
 ('�� M�8 )' ���� ��'�I�
F ���� �
"� P�
�9
 S3 ���� ��
 �6�� β � α #$ �	��� �� @��I ��'��
H���'� �� ��) ��
 #7�'� �E
F �� ��' �	� #$ ��$ % � ���� #�56' 2���- �� �	6�� dZ7I' #��� �
�� �� %&�� ��F ��

α2 = e, β2 = e, αβα = βαβ, J15K

2�
$ ��� �	6�� S3 ���� ��F a (��
=G� �=	� �
 �6�� ��
 ('��)' ��E� 4�� M��OI�` e���
 (� #G	���� #$

��F �
 ����
 �	��� �� ���� ��
 �6�� '� S = {g1, g2, · · · gn} 4L��I�
F)' �' #F��G� ��) G ���� 3��� � �����
f&�� {Z, +} ���� ?�L� ('� 
F #� 2 %-�� S ���F' ��
� � %5L� ��
 ('� � )' ����OI�` @��I #� ('�� � '� ����
�� � G = 〈S〉 �	9��� �� �
 %6�` ��'�� 2��- �� �	6�� S = {n} f&�� {nZ, +} ���� �	
� �
 2��- �� �	6�� S = {1}

2G = 〈g1, g2, · · · gn〉
'��
 #7�'� ��' ��' 2����� S3 ���� ��
 �6�� ������ #$ ���
 #7�'� 4L� ��'� ��:� ���
 #7�'��
�6�� �	� ��'�� ��"���

���'� ?�L� ('�
F #� 2G = 〈S〉/R �	9��� �� @��I ��'�� P�	
� (�S� R �� �[F��G�

S3 = 〈α, β〉/{α2 = β2 = e, αβα = βαβ}. J16K

2��- �� ���'�1 Cyclic Group ���� ���� 3� ���� (� P��- �	6�� ��F 3� f&�� ��
� G ���� 3� ��' H !��"�
�
�
���� ���� ���� 3� )' �6�L� 2%-�� ��F 3� )' �6'��� ��
 ('�� @��I #� '� ��F' #�
 ('�� �� �
��� �	
� 3���

H)' %&' @��5F Infinite Cyclic Group

G = {e, a, a2, a3, a4, · · ·} J17K

H��'�'� ��) 4<- �
�
�� ���� ���� 3�

G = {e, a, a2, · · · , an−1}, J18K

2an = e (��� #$
2%&' |G| �g ����Y6 #5���)' ���� �'�"� #$ ��'� �
 �6��)' �' #F��G� G �����
 � �!"

h



� I� 
 F # F� � G � @�� I � �'�� 2G 	= 〈g1, g2, · · · gk〉 � �' P{g1, g2, · · · gk} ⊂ G # $ � 	 
 $ i� , �#
 $ %&
〈g1, g2, · · · gk〉 # � cO " � � # ���G� ��'�I� 
F)' �'�$ j	
 #$ %&' U8'� 2� �� 	 � ���/ ���'� {gg1, gg2, · · · ggk} ⊂ G

#k F��G� # � ��F 3��
 (��$ # ,�8' � � � �'� �� 
 � 2�- �� 〈g1, g2, · · · gk〉 # � cO " � � = 	 � g �� � �	 
� ��' '� �) � 
 �9 	 �
� �� � � $� �'� ���)' � � � 	  � @�� 5 F # � � � P�� - � �� �'� � �� � 5 �� � � � �� - � � � 	 6� � # $ � �� � F' �'� " � 〈g1, g2, · · · gk〉
2%&�
 �6�� �'�"� ('�� #� 2 #5��� )' G ���F' �'�"� #$ �
� �� (�S� e�8�� ��' 2���	Y��/��� %9��� �� '� �
�'�<� '��) ��-

������ 
��� ��� ���� ���

H)'�
���5F PSn %SY��: ���� ��
�6��

S = {α1, α2, · · ·αn−1}, J19K

H�Y�� @��5F #� 2�
$ �� i�F '� i + 1 � i ��: ��
� #$ %&' ��SY��: αi (��� #$

αi =
(

1 2 3 · · · i i + 1 · · · n
1 2 3 · · · i + 1 i · · · n

)
. J20K

#7�'� �
 �6�� ��' �	� #$ ��� ('�� �� ��`'�� 2���- �� �	6�� �
 %SY��: ��' )' Sn ���F' ���� #$ �'� (�S� ('�� ��
2��'� ��:� ��) ��


α2
i = e,

αiαi+1αi = αi+1αiαi+1,

αiαj = αjαi if |i − j| > 1. J21K


��� �� ������  �!"#�$ ���

!��"����
� 2��- �� ��	��� ���� �� ����$� M��OI�` #$ ��)�9� �����=� ���� �	�'�� �� �	-�� #�-'� B � A ���� �� ����

H���'�

A × B = {(a, b)|a ∈ A, b ∈ B}. J22K

H��- �� !��"� ��) 4<- #� ���� ��'�� M�8

(a1, b1)(a2, b2) = (a1a2, b1b2). J23K

l



���'� �	
� �
 2%&' B �L
1 ��F e′ � A �L
1 ��F e (��� #$ (e, e′) )' %&' @��5F ���� ��' �L
1 ��F

(a, b)−1 = (a−1, b−1). J24K

�� 
��� ��% ���

2�-�� ���� 3� ��1 ��' �	��� �� G ������) 3�'� (� P�-�� G ���� )' �'�+6� #F��G���) 3� H ����
 ������

�'�+6� #7���
 �')' #� ��Y�� �-�� (� ��� ��.C (��'� ��
 %-�Y� ���� A(S) � �'�+6� #F��G� 3� S ����
 �' �
��
H��- �� !��"� ��) @��I #� Hx0 ⊂ A(S) ������) 3� x0 ∈ S

Hx0 := {φ ∈ A(S)|φ(x0) = x0}. J25K

H�	
$ �� !��"� ��Y�� �-�� (� )' ���F a ∈ G � ���� W� G ����
 �( �
��

〈a〉 := {g ∈ G|g = ai, for some i ∈ Z}. J26K

2��- �� ���'�1 a f&�� ��- �	6�� ������) � %&' G ������) 3� 〈a〉 @��I ��'��

#� ����� 4�� #$ ���	� �� ���
�E
F #�
 #F��G� '� 〈W 〉 P�-�� G #F��G� ��) 3� W � ���� 3� G ����
 � ) �
��
������) 〈W 〉 @��I ��'�� 2�
-�� ��	&� ��I �� ��
� P%5L� ��
��� #� #$ �
-�� W )' ���
�E
F M�8 4I�` @��I

2��- �� ��	��� W f&�� ��- �	6��

�� �"#�$� �� �

H�	
$ �� !��"� G ���F' �	� '� ��) �)�' �
 #7�'� ��Y�� �-�� G ������) 3� H ����
 ������

a ≡ b mod H ab−1 ∈ H J27K

2 %&' (�&�P%&' �)�' �
 #7�'� 3� #7�'� ��' #$ ��' @�5A'

a



#� G�� H %&'� #F��G� �
 3� ��F ��' �')' #� ��Y���-�� G )' ���F a ∈ G � G ������) 3� H ����
 ������
H��- �� !��"���) 4<-

Ha := {ha|h ∈ H}. J28K

H��- �� !��"� #��S� c��m #� G �� H n� #F��G� �
 3�

aH := {ah|h ∈ H}. J29K

�� @�5A' � (�	� %&'� #F��G� �
 ZL� �
 #F��G� �
 e���� )' �<� �'�� '� �
 #F��G� �
 #� ;���� ����� �"� #� ��')'
2�	
$

a ∈ G �
 �')' #� � *�

Ha = {g ∈ G|g ≡ a mod H}. J30K

2%&' ���& � #
$%&

2��'� ��:� 3� #� 3� �o�
� G �� H %&'� #F��G� ���
 �	� � *�

3� #� 3� %-�Y� 3� �� ��' �	� ('�� �� #$ �	
� (�S� ���� 2���	� �� �/��� '� Hb � Ha %&'�#F��G� �
�� �#
$%&
H�	
$ !��"� ���� �	� '� ��) %-�Y� �	�'�� �� Hb � Ha !��"� )' �����& �� 2��$�'� �� �-�C �

φ : Ha −→ Hb, φ(x) = xa−1b. J31K

��' '��) %&' 3� #� 3� %-�Y� ��'

φ(x) = φ(y) −→ xa−1b = ya−1b −→ x = y. J32K

�	
� ���'� �G��)' � z = hb #$ ���	� �� #G	�� @��I ��'�� 2z ∈ Hb #$ �	
$ i�,'��) 2%&�-�C %-�Y� ��' �	
� �

2φ(x) = z #$ ��9 #� ����$'�	C x ∈ Ha 3� �
"� 2x = ha �[����� � xa−1b = hb �� � φ(x) = z = hb

2|H | | |G| ��Y�� �-�� (� ������) 3� H � �
�
�� �
��� G ����
 �  �!"

2%&' ����� #	� ��' �
 #F��G� �
 p'��-' ��F � �
 #F��G� �
 �	� 3� #� 3��o�
� #� #:�� ��

q



�� a #5��� P�
$ V�I am = e #7�'� �� #$ m ��F ����<��$ #� P�-�� ���� 3� )' ��F 3� a ∈ G ����
 � �����
2��'� �
�
���� a #5��� �	��� �� �-�� #�-'�� ��:� ���F �	
� ��' 2�	
� �� ����� |a| �� '� (� � �	���

�Y�� @��5F #� P����- �� '� ���� #5��� ��F 3� #5��� � �!"

∀ a ∈ G |a| | |G|. J33K

������ #$ �6r��&' �� 2�-�� �
�
�� %9��� �� #F��G� ��' 2���	� �� �/��� '� 〈a〉 := {e, a, a2, · · ·} #F��G� � #
$%&
#$ ���	� �� #G	�� 45 #	� ���
� � %&' |a| #5��� )' G ���� ��) 3� 〈a〉 #$ ���	� �� #G	�� ����$ 0�� ��' #	� �	���

2����- �� '� |G| |a|

� +� ,�-.

∀ a ∈ G a|G| = e. J34K

P|G| = k|a| (�� �#
$%&

a|G| = ak|a| = ek = e. J35K

��Y�� �-�� ?�' (� #� %59� a ��F � %5L� U	DI ��F 3� n ��' J�O��' #	� K �	/  ,�-.

aφ(n) ≡ 1 mod n, J36K

2�
�9
 ?�' n #� %59� #$ %&' n )'��<��$�'�F' �'�"� φ(n) (��� #$

#� %59� #$ n )'��<��$ U	DI�'�F' �'�"� �
"� ���� ��' #5��� 2%&' ���� 3� M�8 4�F �� Z∗
n #$ �	�'� �� �#
$%&

�� (�S� a′ �� '� n �� (� �	9�� �����	 �� �-�� n )'�� s�=� ���F a ��' ?�` 2φ(n) �� %&'��'�� �'�"� ��' 2�
�9
 ?�' (�
�
'�+� ?�' n #� %59� =	� a �-�5� �	
� ��''��)K %&' ?�' n #� %59� #$ %&' ���F a′ #$ a = kn + a′ #G	���� � �	
�

H%-'� �	
'�1 3� #G	�� #� #:���� 2a′ ∈ Zn∗ #G	���� 2%&'��<��$ =	� (�)' �JP���

a′φ(n) ≡ 1 mod n. J37K

#$ ����� �� %&�� �' #O�: �� f9� )' �����&'� a′ = a − kn ��'.Y��:�� ?�`

aφ(n) ≡ 1 mod n. J38K

t



��Y�� �-�� �
'�+6���F�
 a � �-�� ?�' ���F p ��' J���, 3��$ #	� K � 0  ,�-.

ap ≡ a mod p. J39K

� %&' p ���$�, �'�'� 4��$ ��m #� #$ %&' ��' ���
"� P%&' ?�'��F ��1 p (�� P�-�5� ?�' p #� %59� a ��' � #
$%&
)' �����&'�� ��Y�� �-�5� ?�' p #� %59� a ��' 2ap ≡ a ≡ 0 mod p %-'� �	
'�1 #G	���� 2%&' �	9�� 4�� (��� ��'���
�

%-'� �	
'�1 Pφ(p) = p − 1 #<
�' � �O��' #	� 

ap−1 ≡ 1 mod p, J40K

39 ���9� a �'�+6� ��F �
 �'�� #G	���� 2ap ≡ a mod p #$ ����� �� %&�� a �� �	,�m (��$ M�8�� �G��)' �
2��' ���$ %��A '�

2%&' ���� ���� 3� G ��Y�� P�-�� p ?�' ��F #5���)' � �
�
�� �
��� G ����
 � �!"

�� 2��'� a 4L� e )'�	\ ���F #$ �	
$ �� i�, XC 2%&' ����� #	� #$ �-�� #�-'�� e )' �	\ ���F G ��' � #
$%&
#5��� ��' 2�-�� �
�
�� ���� =	� ������) ��' P%&' �
�
�� G ���� (�� 2%&' G ������) 3� 〈a〉 := {e, a, a2, · · ·} #$ �	�'�
��1 �� ���9� (� #5��� #$ %&' �<�� �� � ��
� p ��F (��� ?�' #� #:���� #$ ����S� '� p ��F ���� �-�����$ G #5��� )' (�

2��- �� ���� ���� G � ��- �� �<� G ��1 �� 〈a〉 ������) #G	���� 2�-�� p

%�&' (��) 
�� ���� � ��$�*	 
�� ���� ��+ �

����
 �	��� �� ��G
�� '� G ���� )' N ���� ��) � �����

∀ g ∈ G, ∀n ∈ N gng−1 ∈ N. J41K

��' f�, � ��' %&'��G
�� G )' N ���� ��) � *�

∀ g ∈ G gNg−1 = N. J42K

#$ �	 
 $ %�� A � �� � ?�` 2gNg−1 ⊂ N #$ %&' U8'� !��" �� �� 
 � 2%&'��G
� � ���� � �) #$ �	 
 $ i�, � #
 $ %&
H�	9��� �� 2 ���	� ���/��� n ∈ N 4L� ��F 3� ��$ ��' �'�� 2N ⊂ gNg−1

n = g(g−1ng)g−1 = gn′g1 ∈ gNg−1, J43K

u



�
�9
 �Y��<� #F��G� ��) gNg−1 � N #$ ��' ���$ %��A ��'���
� 2��' ���$ �����&' N (�����G
�� )' f&� ���9��� #$
2�
�9
 ���9� �
���� ��' #G	�����

2��- �� U8'� N ������) (�����G
�� ��Y�� 2%&'�'� ��r�� ;�- #$ �	
$ i�, ?�`

2�-�� G �� N %&'� #F��G� �
 3� G�� N n� #F��G� �
 �
 ��' f�, � ��' %&'��G
�� G �� N ������) � *�
2%&'��G
�� G �� N #$ �	
$ �� i�, %9+� � #
$%&

��Y�� 2���	� �� �/��� aN #F��G� �
 3�

g ∈ aN −→ g = an for some n ∈ N −→ g = ana−1a = n′a −→ g ∈ Na. J44K

2Na = aN �� ��' >	$���� � Na ⊂ aN #$ ���	� �� #G	�� #��S� ?r��&'�� 2aN ⊂ Na #G	����
�'�+6� ��F 3� @��I ��'�� 2 Na = aN �
"� P %&' %&'� #F��G� �
 3� n� #F��G� �
 �
 #$ �	
$ i�, ?�`

���	� �� �/��� g ∈ G 4L�

aNa−1 = aa−1N = N, J45K

����,� 
�� ���� -���� �

#� �	
� %59� D(g) 4L� �"��� X����� 3� g 4L� (� ��F �
 #� �	�'��� �� � %&' ���� 3� G #$ �	
$ i�, � �����
#$ ��9 

D(g)D(g′) = D(gg′). J46K

�')' #� ����
 2�	��� �� ����� �"� '� �
 X����� �"� 2��' ��'� ����� �
 X����� #O	&� #� '� ���� �	��� �� @��I ��'��
�� �����&' D ��G� U �g��� )' r[ ��"� ���<� ����� �'�� 2�	�'�1 �� ���<� '� ����� P�-�� ���<��YO�F 3� D(g) Pg�


2�	
$
2�-�� #�-'� ^+S� ��
�"� �� ���
 ����� ��
� ���� 3� #$ %&' �<�� #$ �	
� ���$.� �G
	�


Rv



#$ ��- �� #G	�� r�� !��"�)' �
1  ,�-.

D(e) = I

D(g−1) = D(g)−1. J47K

-����+� 
� ���� 
�� �� � �

2%&' ���� ��' �'�� ��"� 3� ����� 3� D1 2%&' G = {e, a, a2} ���� ���� G #$�	
$ i�, � ' �
��

D1(e) = 1, D1(a) := e
2πi
3 , D1(a2) := e

4πi
3 . J48K

H%&' ���� ��' )' ��"� #& ����� 3� D2 2���	� �� R ?�L� ���� (��
'� G �( �
��

D2(e) :=

⎛
⎝ 1 0 0

0 1 0
0 0 1

⎞
⎠ , D2(a) :=

⎛
⎝ 0 1 0

0 0 1
1 0 0

⎞
⎠ , D2(a2) :=

⎛
⎝ 0 0 1

1 0 0
0 1 0

⎞
⎠ . J49K

@��5F ���� ��' �'�� ��"� 3� ����� 3� @��I ��'�� 2���	Y� G = {e, a, a2, · · · an−1} ���� ���� '� G �) �
��
H)' %&'

D1(ak) = e
2πik

n , k = 0, 1, 2, · · ·n. J50K

��'�	C �9����� %9��� �� ��
� %&' an = e #$ %&' (� ��'� #$ �m�- ��
� � %&' ���� ���� (�� #$�	
$ % �
2�- ������� D1(a) = e

2πi
n ��"� 3� X����� �� ;�- ��' #$ ��$ �� V�I D(a)n = 1 ;�-�� #$ ����$

{|0〉, |1〉, · · · |n − 1〉} #��C ��
�'����� ��"� n ���, 3� H��- �� #�1�&��) @��I #� ���� �	�
)' ��"� n ����� 3�
H�	
$ �� !��"���) @��I #� '� S X����� ��Y�� 2���	� ���/���

S|i〉 = |i + 1〉 J51K

#� ��"� n ����� 3� #G	���� 2Sn = I ��'���
� 2Sn|i〉 = |i〉 #$ %&' U8'� 2��- �� ��G�' n w
& #� T�: 4�F (��� #$
H���'���) 4<-

D2(e) = I, D2(a) = S, D2(a2) = S2, · · · . J52K

RR



@��I #� '� D(g) ��
 X����� ���� ����S� 4��5� 3� �� ('��� ����
 %&' ��.C �
�$ D ���2� 31
4 3�
5. �����
���'�1��.C�� �
�$ ����� P %-�� ��7 #$�O� @��I #� '� (� �' #��C j	
�� ('��� #$ �S���� ��'���
� 2%-�� ��7 #$�O�

2��- ��

g����� H�	
$ !��"� �	�'�� �� ��"� 3� ������� Z2 := {e, a} ���� ���� �'�� H?�L�

D0(e) = 1, D0(a) = 1, J53K

g����� �

D1(e) = 1, D1(a) = −1. J54K

H�	
$ !��"���) @��I #� ��"��� ����� 3� �	�'�� �� �	
� �


D2(e) =
(

1 0
0 1

)
, D2(a) =

(
0 1
1 0

)
. J55K

����S� 4��5��� '��) %&'��.C �
�$ ����� 3� ����� ��' ��'

S =
1√
2

(
1 1
1 −1

)

H%-'� �	
''�1

SD2(e)S−1 =
(

1 0
0 1

)
, SD2(a)S−1 =

(
1 0
0 −1

)
J56K

#$ %&�
"� ��' #� #$

D2(g) = D0(g) ⊕ D1(g) ∀g. J57K

*6�� 3�
5. � �
��

R]



4<- #� P%&'��'�� |G| �
"� G #5����� (� �"� � �	
� �� (�S� DR �� '� (� #$��<� ����� 3� G �
�
�� �����
 �'��
��
�'��� ��' 2�
�9
 �����I�
F ���o�
�� (� ���"�� #��C ��
�'��� #$ ���	� �� �' ��'��� ���, '� V 2��- �� !��"���)

�� '� #��C

{|g1〉, |g2〉, · · · |g|G|〉}, 〈gi|gj〉 := δgi,gj J58K

H�
$ ���A'��) 4<- #� ��, ��' #��C ��
�'��� ��� DR(g) g ∈ G �
 �')' #� ?�` 2�	
� �� (�S�

DR(g)|g′〉 := |gg′〉, ∀g, g′ ∈ G. J59K

H'��) %&' ����� 3� DR #$ ��- �� ��O"� ��`'��

DR(g)DR(h)|k〉 = DR(g)|hk〉 = |g(hk)〉 = |(gh)k〉 = DR(gh)|k〉. J60K

-���� .� 
���,/���/ �

�' i ��$'��$ 2�	
� �� ����� C1, C2, · · ·CK '� ���� ��' �G��=� ��
 0Z$ 2 %&' G ���� )' ����� 3� D #$ �	
$ i�,
H)' %&' @��5F �	
� �� ����� χi �� '� (� #$ D �����

χi := tr(D(g)) g ∈ Ci J61K

4L� �G��=� 0Z$ 3� ��F���
 #$ %&' 4	6� ��' #� ��'� �Y�9� (� ���F' #� #� � 0Z$ 3� #� ��$'��$ #$ ��'
� �

$ �� V�I g ∈ G 3� �'�� y = g−1xg #7�'� �� x, y ∈ Ci

tr(D(y)) = tr(D(gxg−1)) = tr(D(g)D(x)D(g)−1) = tr(D(x)). J62K

2�

$ �� �)�� �
�
�� ��
 ���� ����� #��/��� ���� ����
��$'��$ #$ ��� �	
'�1 0�� ��'��
�-�� �O1'� M�8 3� V ���, ����
 �
$ �� (�	� #	� ��' 2��)'��C �� (� @�5A' (��� ��� #	� 3� �$B #� �: ��'��

2��� �
'�1 ���<� �
�
�� ���� 3� ����� ��'��

2��$ ���<� ��
 X����� #� 4��5� ('�� �� '� ����� ��
 X����� ���� >&�
� #��C�		x� 3��� ���� @��5F #�

Rb



�� -���� ��#� �� 0�12� 3�
	 �����4' 	

H�	
$ �� �$B ��) �� '� ���� ���� ��� #$ �	�9
 ���� � �O��9� �� �
�
�� ���� 3� ��
 ����� #��/� ��

�Y��<� �� �m�5��' #� �
 ����� ��' � ��'� ?��"� �	\ ��.C�� �
�$ ����� �'�"� #� ^+S� �
�
�� ���� 3� �' �&70
2���'�

2%1�& '� �
 ����� ��' ('�� �� #��Y� �( �&70

��� ��.C �
�$ ��' � y��.C �
�$ �� %&'��.C�� �
�$ �	"� ����� 3� ��� #$ �'� ^	+S� ('�� �� #��Y� �) �&70
y��- �� #�=G� ���
 ����� #� #� #$ �'� ^	+S� ('�� �� #��Y�

@� 5 A' �'� � 2� �)'�� z � � 
 { &� C @� 5 A' # � # $ � �' (�� � � 	 
 $ � � (� 	 � '� @r'� & � �' { &� C � + � � �'��
�� 1 ��'. ��� � � % &'� � � � � G 
 �'�� 2� 
 $ # " :'� � ��� � # �� / � # �� 
 &�� # � � �'� � � � �� 
 �'� 1 � 
 { &� C � �' � � &��
2%&' ������) ?��:�� ��'.Y��� ��' 2��$ �
'�1 (�&� '� ��
�� >6�7� ��, �G
�'�� ��'.Y��� ��'�&�� 4��� 2�	
$ ^+S� '�

��.C�� �
�$ ��
 ����� �'�"� N

�G��=� ��
 0Z$ �'�"� K

μ ��.C�� �
�$ ����� Dμ

μ ��.C�� �
�$ ����� �"� nμ

i �G��=� 0 Z$ Ci

i �G��=� 0Z$ ���F' �'�"� |Ci|

i 0Z$ �� ����� 3� ��$'��$ χi

i 0Z$ �'�� μ ��.C�� �
�$ ����� ��$'��$ χμ
i

J63K

H��)'��C �� ?'�& �	6�' {&�C #� ?�`
Dμ(g) ����
 2N = K ��'���
� 2%&'��'�� �G��=� ��
 0Z$ �'�"� �� ��.C�� �
�$ ��
 ����� �'�"� ' �&70 80
�
!O�+� ��
 ����� ��
 #�'�� �	 � � �) f�'� � ��Y �� P�-� � (� )' ij �#�'�� [Dμ(g)]ij � �-� � ���� )' g �g E
F �����

H%&'�'� ��

Rh



∑
g∈G

Dν
mi(g)Dμ∗

nj(g) =
|G|
nν

δμνδijδmn. J64K

∑
ij;μ

Dμ
ij(g)Dμ

ij(g
′)∗ = δg,g′ , J65K

2���- �� ��	��� �
 ����� (��� 4��$ � ���"� f�'� � �[`Z7I' #7�'� �� ��'

H%&'�'� �� ��) f�'� � !O�+� ��
 ����� ��
 ��$'��$ �	� �	
� �


K∑
i=1

|Ci|χν
i χμ

i
∗ = |G|δμν . J66K

N∑
ν=1

√
|Cl||Cl′ |χμ

l χμ
l′
∗ = δl,l′ |G|. J67K

2���- �� ��	��� �
��$'��$ (��� 4��$ � ���"� f�'� � =	� #7�'� �� ��'

H��- �� �����&' ��) >6�7� )' �
 (� �� #$ ��'� ��:� ��O�+� V�m ��$ ��' �'�� �9	/ �&70 80
�

�� � ��- �� ��'� %59� R ��F ���� �I�
F #�
 #� #$ ��"� 3� ����� ����� 4L� ��- #�1�
- ��
 ����� H!6'
2�Y�� ���& ��
 �����

2 ���� ���F' ��1 �	� f�'� � H M

'� S3 ���� ��
 ����� (��$ '�	C ��D� ?�L� 3� �� ��) �� 2�
 ����� ��
 #�'�� � �
 ��$'��$ (��� 4��$ � ���"� f�'� � HN
2�	
� �� U	8��
�) �&70 80
�

H��- ���������) ;�- ��' %&'��.C�� �
�$ �
�
�� ���� 3� )' ���<� ����� 3�
∑
g∈G

|χ(g)|2 = |G| J68K

Rl



!O�+� ��
 0Z$ �'�� '� ����� (� ��
��$'��$ %9��� �� ��
� ����� 3� (��5� �� ��.C �
�$ ^	+S� �'�� ��'���
�
2#� �� �- �
'�1 �'� �� V�, #6��"� ��� #$ ��$ �&��� � ��$ #5&�D�

#$ ��� �� �� ��7 #$�O� @��I #� �-�� ��.C �
�$ ��' ����� ��' 2���	Y� �/� �� '� D(g) 4L� �	"� ����� 3� ?�`
H%-�� ('�� �� ��'���
� 2%&'#�,�� �'� ��.C�� �
�$ ��
 ����� )' �<� (� p�O� �
 ��

D(g) =
N⊕

μ=1

aμDμ(g), J69K

'�	C �� *�
 2%&' ��- �'���C Dμ ����� p�O� �
� �� �

� �� (�S� #$ �
�9
 �D	DI ��
��F �
 aμ (� �� #$
H����� �� %&�� � ���	� �� �|� r�� #7�'� )' ��$ ��' �'�� 2%&' aμgU	DI �'�F'g(��$

χ(g) =
N∑

μ=1

aμχμ(g), J70K

�� �

χi =
N∑

μ=1

aμχμ
i . J71K

H����� %&�� '� aμ �g '�F' � �	
$ �����&' �
 ��$'��$ ���"� f�'� � )' �	�'�� �� ?�`

aμ =
1
|G|

∑
i

|Ci|χiχ
μ
i
∗
. J72K

�� -���� +� ���� �� � �


P�
�9
 ���F 3� (� �G��=� ��
 0Z$ #�
 #$ �	�'� �� @��I ��'�� 2 �-�� �O�� ���� 3� G #$ �	
$ i�, H R ?�L�
3� �
"� 2 nμ = 1 �
 μ #�
 �'�� � N = |G| #$ ����� �� %&�� (??K )' ��� � ?�' #7�'� #� #:���� 2K = |G| ��'���
�

2�
�9
 ��"� 3� _��.C�� �
�$ ��
 ����� ���� �O�� ����

'� a �
"� (� �6�� ����� #$ %&' �,�$ 2%&' G = {e, a, a2, · · · an−1} ���� ���� 3� G #$ �	
$ i�, H] ?�L�
;�- %9��� �� 2���	Y��/��� D ����� 3� 2�
�9
 ��"� 3� �
 ����� ���� #$ �	�'� �� 45 ?�L�)' 2����� %&��

(D(a))n = 1 J73K

Ra



�
$ �� !��"� '� ����� 3� �'�$�
 #$ ��'� 4` �� n #6��"� ��' 2�-���'� ��

Dμ(a) = e
2πiμ

n μ = 0, 1, · · ·n − 1. J74K

��'���
�

Dμ(ak) = e
2πiμk

n μ = 0, 1, · · ·n − 1. J75K

H���'� 2�	
� �� (�S� σ2 � σ1 ��'����� #$ %&' �6�� �� �'�'� S3 �� Ǳ�- #& ��
 %SY��: ���� HS3 ���� H b ?�L�

S3 = {e, σ1, σ2, σ1σ2, σ2σ1, σ1σ2σ1}. J76K

H��� �

'�1��) 4<- #� S3 �G��=� ��
 0Z$ %&'�'� �� �
 �6�� �	� #$ �7�'� �)' �����&'��

C0 = {e}, C1 = {σ1, σ2, σ1σ2σ1}, C2 = {σ1σ2, σ2σ1}. J77K

����� (��
 ��"� 3� ����� 3� 2���'���.C�� �
�$ ����� #& �
"� 2N = K = 3 ���'� ���� ��' �'�� ��'���
�
H%&' �����

D0(g) = 1 ∀ g ∈ S3. J78K

H�
� �� %59� ~R ��F ��, ��
 %SY��: #� � �R ��F N�) ��
 %SY��: #� #$ %&' (� �Y�� ��"� 3� �����

D1(e) = D1(σ1σ2) = D1(σ2σ1) = 1

D1(σ1) = D1(σ2) = D1(σ1σ2σ1) = −1. J79K

%&' �,�$ ����� ��'�� 2��'���:��Y�� ��"��� ����� 3���
� #$ ��- �� #G	�� (n0)2 + (n1)2 + (n2)2 = 6 #7�'�)'
#$ �	�'� �� 2�

$ V�I ���� M�8 f�'� � �� #$ �	
� %59� ��"��� ��
 X����� σ2 � σ1 ��
�6�� #� �	�'��� #$

D2(e) =
(

1 0
0 1

)
. J80K

Rq



3� ���
�� 3� D2(σ1) ��
�'��� ���� Pσ2
1 = e #$ �G��)' 2�-�� ��7 σ1 ����� (��� #$ �	
$ �� M�+��' �' #���

H%-'� �	
'�1 ��'���
� 2��� �

'�1

D2(σ1) =
(

1 0
0 −1

)
. J81K

−1 (� (�
	���� XC P%&' ±1 =	� (� ��
�'��� ���� 2�-�� ���<� %9��� �� D2(σ2) X����� 2σ2 ����� ���� �� � �� ?�`
H��'�'� ��) ��'����&' 4<- �9����� �	
� 3� 2%&'

D2(σ2) =
(

a b
b∗ −a∗

)
|a|2 + |b|2 = 1. J82K

2��- �� a (��� ��	�` #� �G
� (D2(σ2))2 = I ;�-
�	-�� #�-'� %9��� �� #G	���� 2σ1σ2σ1 = σ2σ1σ2 #$ �	�'� �� 2�	
$ �� �����&' �
�6�� �	� #7�'�)' ?�`

D2(σ1)D2(σ2)D2(σ1) = D2(σ2)D2(σ1)D2(σ2). J83K

%-'� �	
'�1 ��'���
� 2|b|2 = 3
4 � a = −1

2 H��- �� ��)������ #� �G
� ;�- ��'

D2(σ2) =
1
2

( −1
√

3eiφ√
3eiφ 1

)
, J84K

#� '� 4��5� ��' ��,�� 2��$ *.` >&�
� ����S� 4��5��� ('�� �� ��'��
 '����'��C ��' 2%&' �')����'��C 3� φ (��� #$
H%&'��) 4<- #� D2 ����� �[����� 2���'.� �� ��
�'�1 ���F

D2(σ1) =
(

1 0
0 −1

)
D2(σ2) =

1
2

( −1
√

3√
3 1

)
. J85K

����,� 
�� ���� 
�� ���#5 6�
17 ��

3� �'�� @��I ��'�� 2�-�� ���� ��� fO�+� T��� 3� f : G −→ C � |G| #5��� )' �
�
�� ���� 3� G #$ �	
$ i�,
H�	
$ �� !��"���) 4<- #� f #���, 4��5� ('�
F #� '� f̃(ρ) T��� dρ �"� �� ρ 4L���.C�� �
�$ ���<� �����

f̃(ρ) :=

√
dρ

|G|
∑
g∈G

f(g)ρ(g). J86K

Rt



���'� 2���	� �� ZN ���� '� G ��
��

ZN = {0, 1, 2, · · · N − 1}. J87K

)'�
���5F #$ ��'���.C�� �
�$ ���<� ������� N ���� ��'

ρμ(k) =
1√
N

e
2πiμk

N . J88K

%-'� �	
'�1 V�, !��"����
� @��I ��'��

f̃(μ) =
1√
N

N−1∑
k=0

f(k)e
2πiμk

N . J89K

2����'��
 4��5� =: %9	� �=	� V�, #���, 4��5� ��Y�� G = Z2 ��' Q�E+�

22n � � %&' � �'� � � �. C� � �
�$ ��
 ���� � �'�" � 2|G| = 2n ���'� @��I ��'�� 2� �� 	 � �� Zn
2 ���� '� G ��
 � �

���'� �	
� �
 2μi = 0, 1, ∀ i (��� #$ ��- �� ^+S� �μ = (μ1, μ2, · · · , μn) ���� �
� �� ��.C�� �
�$ ������


ρ�μ(g) = ρ�μ(�k) =
n⊗

i=1

ρμi(ki). J90K

#G	���� 2ρ�μ(�k) = (−1)�μ·�k %-'� �	
'�1 ��'���
� 2ρμ)i(ki) = (−1)μiki #$ �	
$ �� % � ?�`

f̃(�μ) =
1√
2n

∑
�k

f(�k)(−1)�μ·�k. J91K

&�'(� ����) *��+� ����

H�	
$ �� #:����) ��� ��D�' #� %9+�
∑

μ

dρμχρμ(g) = |G|δg,e. J92K

Ru



#7�'�)' #$ �	
$ �� #:�� ��D�' ��' @�5A' �'��

ρ =
⊕

μ

cμρμ, J93K

���'�

χi =
∑

μ

cμχμ
i . J94K

����� �� %&�� �	�=� T�: i ��� � �	
$ M�8 riχν
i �� '� �	,�m ����


riχν
i χi =

∑
μ

ricμχμ
i χν

i J95K

�
��$'��$ #� ;���� ���"� #7�'� )' ��'
∑

i

riχ
μ
i χν

i = |G|δμ,ν , J96K

�
"� ���� (��� 4��$ #7�'��
∑

μ

√
rirjχ

μ
i χμ

j = |G|δi,j , J97K

����� �� %&��
∑

i

χν
i χi =

∑
μ

cμ|G|δμ,ν = |G|cν , J98K

���	� �� #G	�� ��'���
�

cν =
∑

i

ri

|G|χ
ν
i χi. J99K

%-'� �	
'�1 �/
� ����� �'��

Cν =
∑

i

ri

|G|χ
ν
i χReg

i , J100K

���

Cν =
∑
g∈G

1
|G|χ

ν(g)χReg(g). J101K

]v



����� �� %&�� ��'���
� 2χreg(g) = δg,e|G| #$ �	�'� ����'

Cν = χν(e) = dν , J102K

2��- ���
�o ��1 �"� �'�"� #� ������
��.C�� �
�$ ��
 ����� #� �/
� ����� #�=G��� ��'���
� 2Cν = dν #G	�����
H��$ �9���)����) 4<- #� ('�� �� '� ~~~ #7�'� ��'���
�

χReg
i =

∑
μ

dμχμ
i , J103K

���

χReg
i (g) =

∑
μ

dμχμ
i (g), J104K

�G��)'�

|G|δg,e =
∑

μ

dμχμ(g). J105K

#7�'� )' H�	
$ �� !��"� '� 0�<"� #���, 4��5� � �	
$ �� �����&' �&�&' #G	�� ��')' ?�`

f̃(ρ) :=
√

dρ

|G|
∑

g∈G f(g)ρ(g), J106K

����� �� %&��
∑

μ

√
dμtr(f̃ (μ)ρμ(g′)) =

∑
μ

dμ√|G|
∑
g∈G

f(g)tr(ρμ(gg′))

=
∑

μ

dμ

∑
g∈G

f(g)χμ(gg′)
1√|G|

=
∑
g∈G

1√|G|

(∑
μ

dμχμ(gg′)

)

=
√
|G|f(g′−1). J107K

����� �� %&�� ��'���
�

]R



f(g) =
√

dμ

|G|
∑

μ f̃(μ)ρμ(g−1) . J108K

2���� ��� #���, 4��5� )' ��� %	I�1 3�
�Y�� @��5F #� 2��$ �
'�1 ��		x� #� (� #���, 4��5� �	
� ?����' �����E
F 3� �)'��' #� '� f T��� ��' �	
5� �	
'�1 ��

f(g) T��� #���, 4��5� �	� �' #7�'� #�
���'� 2��'� ��:� f ′(g) := f(gh) T��� �

f̃ ′(μ) =

√
dμ

|G|
∑
g∈G

f(gh)ρμ(g)

=

√
dμ

|G|
∑
g′∈G

f(g′)ρμ(g′h−1)

=

√
dμ

|G|
∑
g′∈G

f(g′)ρμ(g′)ρ(h−1) = f̃(g)ρμ(h−1). J109K

�	
'�1 �-���'� �� f(g) = f(gh) ∀ g ∈ G %	I�1 #$ �� � �'�� �
"� �-�� ����
� f T��� #$ �� � �'�� Q�E1 #�
%-'�

f̃(μ)(I − ρμ(h1)) = 0, J110K

���

f̃(μ) = δρμ(h),I . J111K

�"�� ��� 
��� ��� ����) *��+� ����

�	
'�1 #G	���� 2%&'��'�� �����I�
F �'�"� �� ��.C�� �
�$ ��
 ����� �'�"� �
"� N = |G| ���'� �O�� ��
 ���� �'��
%-'�

f̃(μ) =

√
1
|G|

∑
g∈G

f(g)ρμ(g),

]]



f(g) =

√
1
|G|

∑
μ

f̃(μ)ρμ(g−1), J112K

���'� @��I ��'�� 2G = Zn �' �
��

g ∈ {0, 1, 2, · · ·n − 1}, μ ∈ {0, 1, 2, · · ·n − 1}. J113K

f̃(μ) =
1√
n

∑
k

f(k)e
2πiμk

n

f(k) =
1√
n

∑
μ

f̃(μ)e−
2πiμk

n . J114K

���'� @��I ��'�� 2G = Zn × Zm � ( �
��

g ∈ {(k, l) | k ∈ Zn, l ∈ Zm}. J115K

μ ∈ {(μ1, μ2) | μ1 ∈ Zn, μ2 ∈ Zm}. J116K

�

f̃(μ1, μ2) =
1√
nm

∑
k,l

f(k, l)e
2πiμ1k

n +
2πiμ2l

m

f(k, l) =
1√
nm

∑
μ1,μ2

f̃(μ1, μ2)e−
2πiμ1k

n − 2πiμ2l

m . J117K

���'� @��I ��'�� 2G = S3 � ) �
��

g ∈ {e, σ1, σ2, σ1σ2, σ2σ1, σ1σ2σ1}. J118K

�

μ ∈ {1, 1′, 2}. J119K

]b



#$ �	�'� �� �	
� �


ρ1(σ1) = ρ1(σ2) = 1, ρ1′
(σ1) = ρ1′

(σ2) = −1. J120K

�

ρ2(σ1) =
(

1 0
0 −1

)
ρ2(σ2) =

1
2

( −1
√

3√
3 1

)
. J121K

���'� ���� ��' �'��

f̃(1) =
1√
6

(f(e) + f(σ1) + f(σ2) + f(σ1σ2) + f(σ2σ1) + f(σ1σ2σ1)) , J122K

f̃(1′) =
1√
6

(f(e) − f(σ1) − f(σ2) + f(σ1σ2) + f(σ2σ1) − f(σ1σ2σ1)) J123K

�

f̃(2) =

√
2
6
f(e)

(
1 0
0 1

)
+ f(σ1)

(
1 0
0 −1

)

+ f(σ2)

(
− 1

2

√
3

2√
3

2
1
2

)
+ f(σ1σ2)

(
− 1

2

√
3

2
−√

3
2

−1
2

)

+ f(σ2σ1)

(
− 1

2
−√

3
2√

3
2

−1
2

)
+ f(σ1σ2σ1)

(
− 1

2
−√

3
2

−√
3

2
1
2

)
J124K

�	9��
� �	�'�� �� g ∈ S3 �
 �'�� 2%&'�'� �� �G
�'�� =	� #���, 4��5� X<F #� ;���� f�'� � �	
� �


f(g) =
1√
6
tr(f̃ (1)ρ1(g)) +

1√
6
tr(f̃(1′)ρ1′

(g)) +

√
2
6
tr(f̃(2)ρ2(g)). J125K

2�
$ c	�D� '� #7�'� ��' %DI ��'�� �� ��
�'�1

H�	
$ �9���)����) 4<- #� '� #���, 4��5� #� ;���� f�'� � �	�'�� �� #$ �	
$ % �

]h



f̃(μ, i, j) =

√
dμ

|G|
∑
g∈G

f(g)[ρm(g)]ij

f(g) =
∑
μ,i,j

√
dμ

|G| f̃(μ, i, j)[ρμ(g1)]ji. J126K

4��5� ��' �	�'�� �� 2��"� |G| ���, 3� #� ��"� |G| ���, 3�)' %&' �O��5� #���, 4��5� P ∑μ d2
μ = |G| (��

4<- #� ��G
�� ���"�� #��C 3� �	�'�� �� ��"� |G| ���,�� 2�	9��
� �����������5 �) 4<- #� p'��� ��
 ������ '�
H���	Y��/�����)

{|g〉, g ∈ G}, 〈g|g′〉 = δg,g′ . J127K

���	� ���/�����) 4<- #� ��Y�� #��C ?�`

{|μ, i, j〉, } J128K

#� #��C �� ��' ;�5��' 2���	� ���'��� ����� (� ��
 #�'�� ��� j � i � @�������.C�� �
�$ ��
 ����� ��� μ (��� #$
H%&'��) 4<-

〈g|μ, i, j〉 =

√
dμ

|G| [ρ
μ(g)]ij . J129K

#$ �	
$ �� % � ?'�& ��' #� {&�C �'�� 2%&'��G
�� � ���"�� =	� ���: #��C ��� #$ �	
$ �� ?'�& ?�`

〈μ′, i′, j′|μ, i, j〉 =
∑
g,g′

√
dμ

|G|

√
d′μ
|G| [ρ

μ′(g)]i′j′ [ρμ(g)]ij J130K

���G
�� � ���"�� =	� ���: ��
 #��C ��'���
� 2δμ,μ′δi,i′δj,j′ �� %&'��'�� #7�'� ��' %&'� *�m #$ ��' ��'� (�S� Z[ 5 ��'
�	9��
� �	�'�� �� #G	���� 2�
�9
 4��$ #G	����

|g〉 =
∑
μ,i,j

√
dμ

|G| [ρ
μ(g)]ij |μ, i, j〉 J131K

]l



���

|μ, i, j〉 =
∑
g∈G

√
dμ

|G| [ρ
μ(g)]ij |g〉. J132K

��'�� 2�-�� V�, �71 ���,���'��� 3� |f〉 #$ �	
$ i�, 2V�, ��
 #��C �	� �O��5�=: %9	� �=	� #���, 4��5�
�	9��� �� @��I

|f〉 =
∑
g∈G

f(g)|g〉. J133K

%-'� �	
'�1 2�9��
� ��� #��C�� �	�'�� �� '� �'��� �	�


|f〉 =
∑
g∈G

f(g)
∑
μ,i,j

√
dμ

|G| [ρ
μ(g)]ij |μ, i, j〉

=
∑
μ,i,j

⎛
⎝∑

g∈G

f(g)

√
dμ

|G| [ρ
μ(g)]ij

⎞
⎠ |μ, i, j〉

=
∑
μ,i,j

f̃(μ, i, j)|μ, i, j〉, J134K

(��� #$

f̃(μ, i, j) =
∑
g∈G

f(g)

√
dμ

|G| [ρ
μ(g)]ij . J135K

]a


